rPrREVOST

Instruction Sheet 1S-12050

Evaporator compartment filter relocation

Use these kits to relocate the evaporator filters on existing Le Mirage XLII entertainer vehicles equipped
with large A/C systems

Contact one of our Prevost service centers to perform installation procedure SCI12-46.

Select kit accordingly.

MATERIAL
Kit #374694 Vehicles with a slide out extension over HVAC evaporator compartment.

Part No. Description Qty

370354 DECAL, M5 HVAC FILTER FE 1
374675 PLENUM EVAP, W/EXT ASSY 1
374681 CLOSING, FILTER 1
374685 SUPPORT, EVAPORATOR DUCT 1
374690 CENTRAL WATER VALVE, ASSY 1
374691 PIPE, OUTLET HEATING COIL ASSY 1
500411 FLAT WASHER 1
500957 SCR TP BDG PH N500 #10X3/4 13
500957 SCR TP BDG PH N500 #10X3/4 1
502737 CAP SCREW M6 1
502854 NUT M6 1
504323 GROMMET 1
504428 CABLE TIE BASE 2
504604 STEEL RETAINER 6 MM 3
504605 RECEPTACLE 6 MM 3
504681 STUD 6MM (DZUS) 3
506268 RUB AD1 POL 3/8" X 1/2" X 25' 21.61in
871447 AIR FILTER 2
5001744 SCR CAP HEX N500 M6-1.0X16 G8.8 3
5001833 WSH BEL SPR SS 301 6.65X17.4X1.27 3
F112050 FEUILLE D'INSTRUCTIONS 1
1IS12050 INSTRUCTION SHEET 1

IS-12050 / Page 1/2

<(FOR) QF2150959> Feuille d'instruction (anglais) - [Diffusé] No. Révision: 4 - Date de diffusion: 2008-05-13 09:07:45



Kit #374695 Vehicles without a slide-out extension over HVAC evaporator compartment.

Part No. Description Qty

370354 DECAL, M5 HVAC FILTER FE 1
374679 PLENUM EVAP, W/O EXT ASSY 1
374681 CLOSING, FILTER 1
374684 SUPPORT, EVAPORATOR DUCT 1
374690 CENTRAL WATER VALVE, ASSY 1
374691 PIPE, OUTLET HEATING COIL ASSY 1
500411 FLAT WASHER 1
500957 SCR TP BDG PH N500 #10x3/4 19
500957 SCR TP BDG PH N500 #10x3/4 1
502737 CAP SCREW M6 1
502854 NUT M6 1
504323 GROMMET 1
504428 CABLE TIE BASE 2
504604 STEEL RETAINER 6 MM 3
504605 RECEPTACLE 6 MM 3
504681 STUD 6MM (DZUS) 3
506268 RUB AD1 POL 3/8" x 1/2" x 25' 21.6in
871447 AIR FILTER 2
5001744 SCR CAP HEX N500 M6-1.0x16 G8.8 3
5001833 WSH BEL SPR SS 301 6.65X17.4X1.27 3
FI112050 FEUILLE D'INSTRUCTIONS 1
1IS12050 INSTRUCTION SHEET 1

Contact one of our Prevost service centers to perform installation procedure SCI12-46.

IS-12050 / Page 2/2

<(FOR) QF2150959> Feuille d'instruction (anglais) - [Diffusé] No. Révision: 4 - Date de diffusion: 2008-05-13 09:07:45



